

# THE LATEST THUNDER NEWS & INFORMATION

MARCH 1, 2012

## **Time Improvements For The GST Polar Bear Invitational**

The following swimmers set new personal best at the Germantown meet on Feb. 4 & 5, 2012.

#### SILVER **SOUTHEASTERNS BLACK SENIORS** Anna Bacus Jarrod Brown Austin Aquilar Gabby Acker Sonia Bartel Caitlin Cagna Liam Anders Hannah Anderson Elizabeth Davis Matthew Christian-Robyn Anderson Hudson Beaudry Dean DiMento sen Breanna Asadoorian Erin Bigus Dylan Gorman Harrison Ciskowski Carley Bowers Dani Cagna Anna Morman Ryland Darling Wood Davis Abby Bowers Katie Pritchard Rebecca Dean Ben DiMento Sam Brackens Elizabeth Raine Lucas Franklin Sophie Dismukes Mary Ciskowski Madeline Sells Stephen Glasgow Sadie Franklin Annie Davis **Emily Whitley** Susanna Hamsley Jake Gorman Jessica DiMento Haley Hansen Molly Hargrove Ryan DiMento Emily Mahan JoBeth Hillyard Mary Hannah Gau-Alex Ruleman Kisahn Hong shell Griga Schneider Omkar Hosad Ryan Gorman Garrett Stelling Joseph Hillyard Anna Kwon **Taylor Treas** Jensen Lewis Mitchell Lee Alexander Liang Paige Lies Morgan McGuffee Rachel Lynch Hadleigh Mormon Ashley Meyers Jacob Pritchard Liza Nolan Sarah Pritchard Hall Squiers Luke Stevens Giovanna Scott-Brooke Stockton McCabe. Bryce Williams Soham Sinha Courtney Stephens Catherine Swords Caelin Weaver Madelyn Wild









## **Top 10 Finishes at GST Polar Bear Classic**

### **WOMEN**

Acker, Gabby - 3<sup>rd</sup> 50 Free, 4<sup>th</sup> 100 Free, 1<sup>st</sup> 50 Back, 2<sup>nd</sup> 100 Back, 3<sup>rd</sup> 50 Breast, 1<sup>st</sup> 100 Breast

Anderson, Hannah-  $8^{th}$  100 Free,  $4^{th}$  200 Free,  $5^{th}$  500 Free,  $2^{nd}$  1650 Fre,  $6^{th}$  100 Fly,  $6^{th}$  200 IM

Baccus, Anna- 7<sup>th</sup> 50 Back

Bartel, Sonia- 7<sup>th</sup> 50 Free, 1<sup>st</sup> 25 Back, 4<sup>th</sup> 50 Fly

Bigus, Erin- $6^{th}$  50 Free,  $4^{th}$  100 Free,  $1^{st}$  200 Free,  $2^{nd}$  100 Back,  $1^{st}$  200 Back,  $2^{nd}$  100 Fly,  $2^{nd}$  200 Fly,  $4^{th}$  200 IM

Bowers, Carley- 1<sup>st</sup> 200 Breast (Open), 2<sup>nd</sup> 200 Breast (Open), 6<sup>th</sup> 50 Free, 4<sup>th</sup> 100 Free, 3<sup>rd</sup> 500 Free, 4<sup>th</sup> 100 Back,

1<sup>st</sup> 100 Breast, 1<sup>st</sup> 200 Breast, 3<sup>rd</sup> 100 Fly, 4<sup>th</sup> 200 Fly

Bowers, Abby-  $1^{st}$  200 Breast (Open),  $5^{th}$  50 Free,  $3^{rd}$  100 Free,  $2^{nd}$  50 Back,  $1^{st}$  50 Fly,  $2^{nd}$  100 Fly,  $2^{nd}$  200 Back,  $1^{st}$  200 Breast

Cagna, Dani- 6<sup>th</sup> 50 Free, 7<sup>th</sup> 100 Free, 1<sup>st</sup> 200 Free, 8<sup>th</sup> 50 Breast, 5<sup>th</sup> 50 Fly, 2<sup>nd</sup> 100 Fly, 2<sup>nd</sup> 200 IM

Ciskowski, Mary-  $1^{st}$  100 Free,  $6^{th}$  50 Back,  $6^{th}$  100 Back,  $1^{st}$  100 Breast,  $3^{rd}$  50 Fly,  $1^{st}$  100 Fly,  $1^{st}$  200 IM

Davis, Elizabeth- 7<sup>th</sup> 100 Free

Davis, Annie-  $7^{th}$  100 Free,  $6^{th}$  200 Free,  $6^{th}$  500 Free,  $6^{th}$  200 Back,  $8^{th}$  100 Breast,  $8^{th}$  200 Breast,  $5^{th}$  200 IM

Dean, Rebecca- 3<sup>rd</sup> 50 Free, 3<sup>rd</sup> 100 Free, 2<sup>nd</sup> 200 Free, 2<sup>nd</sup> 500 Free, 1<sup>st</sup> 100 Back, 3<sup>rd</sup> 200 Back, 2<sup>nd</sup> 100 Breast,

1<sup>st</sup> 100 Breast, 5<sup>th</sup> 200 Fly, 1<sup>st</sup> 200 IM

Gaushell, Mary- $5^{th}$  100 Free,  $2^{nd}$  200 Free,  $5^{th}$  50 Back,  $2^{nd}$  50 Breast,  $2^{nd}$  100 Breast,  $4^{th}$  500 Free,  $2^{nd}$  200 Back,  $2^{nd}$  200 Fly

Gorman, Dylan-  $2^{nd}$  100 Free,  $4^{th}$  25 Back,  $3^{rd}$  50 Back,  $4^{th}$  25 Breast,  $4^{th}$  50 Breast,  $2^{nd}$  25 Fly,  $1^{st}$  50 Fly,  $2^{nd}$  100 IM

Hamsley, Susanna- 3<sup>rd</sup> 200 Free, 2<sup>nd</sup> 500 Free, 1<sup>st</sup> 100 Back, 2<sup>nd</sup> 200 Back Hansen, Hayley- 2<sup>nd</sup> 50 Free, 4<sup>th</sup> 100 Back, 1<sup>st</sup> 200 Breast, 3<sup>rd</sup> 100 Fly, 2<sup>nd</sup> 200 IM Hillyard, JoBeth- 1<sup>st</sup> 100 Back (Open), 1<sup>st</sup> 50 Back (Open), 1<sup>st</sup> 50 Free, 1<sup>st</sup> 100 Free, 2<sup>nd</sup> 200 Free, 4<sup>th</sup> 50 Back, 4<sup>th</sup> 100 Back,

1<sup>st</sup> 100 Fly

Kwon, Anna- 8<sup>th</sup> 50 Free, 2<sup>nd</sup> 100 Back, 6<sup>th</sup> 100 Breast, 6<sup>th</sup> 50 Fly, 3<sup>rd</sup> 100 IM Lies, Paige- 7<sup>th</sup> 50 Free, 3<sup>rd</sup> 100 Breast, 2<sup>nd</sup> 200 Breast, 1<sup>st</sup> 100 Fly, 1<sup>st</sup> 200 Fly, 5<sup>th</sup> 200 IM

Lynch, Rachel-  $1^{st}$  100 Free,  $5^{th}$  200 Free,  $4^{th}$  500 Free,  $3^{rd}$  100 Back,  $4^{th}$  200 Back,  $7^{th}$  100 Breast

```
Mahan, Emily-1<sup>st</sup> 50 Free, 2<sup>nd</sup> 100 Free, 1<sup>st</sup> 500 Free, 1<sup>st</sup> 1650 Free, 1<sup>st</sup> 100 Breast,
2<sup>nd</sup> 200 Breast
McGuffee, Morgan-8<sup>th</sup> 100 Fly
Meyers, Ashley- 1<sup>st</sup> 50 Free, 2<sup>nd</sup> 100 Free, 2<sup>nd</sup> 200 Free, 2<sup>nd</sup> 200 Back, 2<sup>nd</sup> 100 Breast,
4<sup>th</sup> 100 Fly, 6<sup>th</sup> 200 IM
Mormon, Anna- 6<sup>th</sup> 50 Free, 3<sup>rd</sup> 25 Back, 1<sup>st</sup> 50 Back, 8<sup>th</sup> 50 Breast, 6<sup>th</sup> 25 Fly
Mormon, Hadleigh- 6<sup>th</sup> 100 Free, 5<sup>th</sup> 200 Free, 4<sup>th</sup> 50 Breast, 2<sup>nd</sup> 100 Breast, 8<sup>th</sup> 50 Fly,
6<sup>th</sup> 100 Fly, 4<sup>th</sup> 200 IM,
   4<sup>th</sup> 100 IM
Nolan, Liza- 6<sup>th</sup> 100 Breast, 8<sup>th</sup> 200 IM
Pritchard, Katie- 8<sup>th</sup> 25 Free, 2<sup>nd</sup> 25 Back, 6<sup>th</sup> 50 Back, 7<sup>th</sup> 50 Breast, 2<sup>nd</sup> 25 Fly
Pritchard, Sara-5<sup>th</sup> 50 Free, 5<sup>th</sup> 100 Free, 7<sup>th</sup> 200 Free, 7<sup>th</sup> 500 Free, 7<sup>th</sup> 100 Back, 4<sup>th</sup>
100 Breast, 6<sup>th</sup> 200 Breast, 5<sup>th</sup> 100 Flv.
    3<sup>rd</sup> 200 IM
Scott-McCabe, Giovanna- 1<sup>st</sup> 50 Free, 3<sup>rd</sup> 100 Free, 4<sup>th</sup> 200 Free, 2<sup>nd</sup> 500 Free, 1<sup>st</sup>
1650 Free, 2<sup>nd</sup> 100 Breast, 3<sup>rd</sup> 200 Breast,
   7<sup>th</sup> 100 Fly, 5<sup>th</sup> 200 Fly, 2<sup>nd</sup> 200 IM
Stephens, Courtney- 6<sup>th</sup> 200 Free, 6<sup>th</sup> 100 Back, 4<sup>th</sup> 50 Fly, 4<sup>th</sup> 100 Fly, 5<sup>th</sup> 100 IM, 2<sup>nd</sup>
200 IM
Stockton, Brooke- 10<sup>th</sup> 100 Free, 6<sup>th</sup> 100 Back, 8<sup>th</sup> 100 Breast
Swords, Catherine- 7<sup>th</sup> 200 Back, 7<sup>th</sup> 200 Breast
Treas, Taylor- 3<sup>rd</sup> 50 Free, 3<sup>rd</sup> 100 Free, 3<sup>rd</sup> 200 Free, 8<sup>th</sup> 500 Free, 3<sup>rd</sup> 100 Fly
Wild, Madelyn- 3<sup>rd</sup> 100 Breast
Williams, Bryce-8<sup>th</sup> 100 Back
MEN
Aguilar, Austin- 5<sup>th</sup> 50 Back, 5<sup>th</sup> 50 Breast
Anders, Liam- 6<sup>th</sup> 50 Free, 5<sup>th</sup> 100 Free, 5<sup>th</sup> 200 Free, 3<sup>rd</sup> 50 Back, 2<sup>nd</sup> 100 Back, 2<sup>nd</sup> 50
Fly, 2<sup>nd</sup> 100 Fly
Beaudry, Hudson- 2<sup>nd</sup> 100 Free, 1<sup>st</sup> 200 Free, 3<sup>rd</sup> 50 Breast, 4<sup>th</sup> 100 Breast, 1<sup>st</sup> 100 IM
Brackens, Samuel- 2<sup>nd</sup> 50 Free, 4<sup>th</sup> 100 Free, 3<sup>rd</sup> 200 Free, 4<sup>th</sup> 50 Back, 1<sup>st</sup> 100 Back,
5<sup>th</sup> 50 Breast, 2<sup>nd</sup> 50 Fly, 3<sup>rd</sup> 100 Fly,
   2<sup>nd</sup> 200 IM, 3<sup>rd</sup> 500 Free
Brown, Jarrod- 5<sup>th</sup> 200 Free, 2<sup>nd</sup> 100 Back, 2<sup>nd</sup> 100 Breast
Christiansen, Matthew- 8<sup>th</sup> 50 Free, 4<sup>th</sup> 100 Free, 1<sup>st</sup> 200 Free, 7<sup>th</sup> 100 Back, 5<sup>th</sup> 100
Breast, 2<sup>nd</sup> 200 Breast, 4<sup>th</sup> 100 Flv.
    1<sup>st</sup> 200 IM
Ciskowski, Harrison- 7<sup>th</sup> 50 Free, 6<sup>th</sup> 100 Free, 3<sup>rd</sup> 200 Free, 3<sup>rd</sup> 100 Back, 3<sup>rd</sup> 200
Back, 3<sup>rd</sup> 100 Breast, 1<sup>st</sup> 200 Fly
Darling, Ryland- 2^{nd} 100 Free, 2^{nd} 1650 Free, 3^{rd} 200 Fly
Davis, Wood- 8<sup>th</sup> 200 Free, 7<sup>th</sup> 100 Back, 7<sup>th</sup> 200 IM
DiMento, Benjamin- 2<sup>nd</sup> 100 Free, 4<sup>th</sup> 200 Free, 1<sup>st</sup> 50 Back, 1<sup>st</sup> 100 Back, 1<sup>st</sup> 50
Breast, 1<sup>st</sup> 100 Breast, 1<sup>st</sup> 200 IM,
    1<sup>st</sup> 100 IM
```

DiMento, Dean- 4<sup>th</sup> 25 Free, 1<sup>st</sup> 50 Breast, 3<sup>rd</sup> 25 Fly, 1<sup>st</sup> 100 IM

100 Breast, 4<sup>th</sup> 200 Breast,

3<sup>rd</sup> 200 IM

Franklin, Lucas- 4<sup>th</sup> 50 Free, 3<sup>rd</sup> 100 Free, 2<sup>nd</sup> 200 Free, 5<sup>th</sup> 100 Back, 2<sup>nd</sup> 200 Back, 6<sup>th</sup>

Glasgow, Stephen- 2<sup>nd</sup> 50 Free, 2<sup>nd</sup> 100 Free, 2<sup>nd</sup> 200 Free, 2<sup>nd</sup> 100 Back, 4<sup>th</sup> 100 Breast, 1<sup>st</sup> 100 Fly

Gorman, Jack- 1<sup>st</sup> 100 Free, 3<sup>rd</sup> 200 Free, 1<sup>st</sup> 50 Back, 1<sup>st</sup> 50 Fly, 1<sup>st</sup> 100 IM Gorman, Ryan- 2<sup>nd</sup> 50 Free, 1<sup>st</sup> 100 Free, 1<sup>st</sup> 50 Back, 2<sup>nd</sup> 500 Free, 4<sup>th</sup> 200 Back, 5<sup>th</sup> 200 Breast

Hillyard, Joseph- 2<sup>nd</sup> 50 Free, 2<sup>nd</sup> 100 Free, 1<sup>st</sup> 500 Free, 1<sup>st</sup> 1650 Free, 1<sup>st</sup> 100 Breast, 1<sup>st</sup> 200 Breast

Lee, Mitchell- 6<sup>th</sup> 200 Free, 2<sup>nd</sup> 500 Free, 8<sup>th</sup> 200 Back, 7<sup>th</sup> 200 Breast Liang, Alexander- 5<sup>th</sup> 50 Free, 2<sup>nd</sup> 50 Back, 4<sup>th</sup> 100 Back, 4<sup>th</sup> 100 Breast, 3<sup>rd</sup> 50 Fly, 2<sup>nd</sup> 100 Fly

Lies, James- 1<sup>st</sup> 25 Free, 1<sup>st</sup> 50 Free, 1<sup>st</sup> 25 Back, 1<sup>st</sup> 25 Breast, 1<sup>st</sup> 50 Breast, 1<sup>st</sup> 25 Flv, 1<sup>st</sup> 50 Flv

Pritchard, Jacob- 4<sup>th</sup> 500 Free, 10<sup>th</sup> 50 Free, 8<sup>th</sup> 50 Back, 4<sup>th</sup> 100 Back, 4<sup>th</sup> 50 Breast, 5<sup>th</sup> 100 Breast, 5<sup>th</sup> 100 IM

6<sup>th</sup> 200 IM

Ruleman, Alexander- 6<sup>th</sup> 50 Free, 3<sup>rd</sup> 100 Free, 1<sup>st</sup> 100 Breast, 3<sup>rd</sup> 200 Breast, 5<sup>th</sup> 100 Fly, 5<sup>th</sup> 200 IM

Sinha, Soham- 2<sup>nd</sup> 100 Free, 1<sup>st</sup> 50 Back, 2<sup>nd</sup> 100 Fly, 1<sup>st</sup> 200 IM

Squiers, Hall- 7<sup>th</sup> 50 Free, 7<sup>th</sup> 100 Free, 5<sup>th</sup> 200 Free, 7<sup>th</sup> 50 Back, 5<sup>th</sup> 100 Back, 8<sup>th</sup> 50 Fly

Stelling, Garrett- 1<sup>st</sup> 100 Back, 2<sup>nd</sup> 200 IM

Stevens, Luke- 5<sup>th</sup> 100 IM, 3<sup>rd</sup> 100 Back, 7<sup>th</sup> 50 Fly

Weaver, Caelin- 2<sup>nd</sup> 50 Free, 3<sup>rd</sup> 100 Free, 7<sup>th</sup> 200 Free, 6<sup>th</sup> 100 Back, 2<sup>nd</sup> 200 Breast, 1<sup>st</sup> 100 Fly, 2<sup>nd</sup> 200 IM









If we inadverntantly left out any swimmers email us so we might correct the report. Thanks, hillyardrandy@yahoo.com